
機種 部品番号 摘要 発注単位

7-9G 30287-54201
M6×20（4t)
ﾎﾞﾙﾄ､ﾅｯﾄ､SW

30セット

88　S,N,R,RS,F,FS,HST

808 S　809HSTD

890 HST

89　G,GⅡ,GX,GR

810 R,RS,FS,HST,GRX

811 HSTR,G,GⅡ,GX,GR

812 GRX,GMX

813 HSTR,G,GMX

913 GMX

909 D

911　H,VH

913　HST

914　HST,GS,GSM,HSTD

915  DK

916　GS,GSM,G,D

918 D

1015　HST

1016　G,HST

1018　HST,GS,G

1020　GS,G

1022　GS,G

1116 H,HⅡ,HST,HD

1117 HD,HST

1118 H,HST

1120 HST，HSTD

1121 D

1122 HD,HST,HSTK

1123 D

1125 HD,DK

1126 HST　1127 D　1128 D

1235 HST　1240 HST

12-42 D，DK　1244 DK
709-2112-D

M10x30
ﾎﾞﾙﾄ､ﾅｯﾄ､SW

709-2111-D

709-2101-D
M8x25

ﾎﾞﾙﾄ､ﾅｯﾄ､SW

M10x25
ﾎﾞﾙﾄ､ﾅｯﾄ､SW

30セット

30セット

30セット

シャーボルト部品番号一覧(2017年現在）


